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If cos 0 == ½ ( x + i), then ~ ( x2 + ;"z) is equal to : 1. 

2. 

3. 

4. 

5. 

(1) sin 20 

(?) tan 20 

(2) cos 20 

(4) cot 20 

3n 
~f 4 ·< a < 1t, then ✓ cosec2 a + 2 cot a is equ.al to : 

(I) -1 - cot a . 

(3) . 1 - cot a 

(2) 1 + cot a 

(4) -1 + cot a 

If tan. 20 tan 0 • = 1, then the gener3:l value of 0 is : -

(1) (n + !) n 

(3) (n + !) !!. 
. 2 3 

(2) ( 2n ± ½}i 

(4) None of.these 

• I 

If (w *··1) i~ a cube .root of unity and_(l + w)7 =A+ Bw, then A·and B 

are given by : 

(1) 0, 1 

(3) -1, 1 

(1) Im(z) = 0 

(3) Re(~) ~ 0, Im(z) > 0 

(2) • 1, 0 

(4) 1, .1 

i 

(2) Re(z) = 0 

(4) None of these 
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Question I Questions 
No. 
6. / The number of real root~ of 3 2x

2
-

7x+
7 = 9 is: 

. 7. 

(1) 2 (2) 1 
I 
(3) Zero (4) 4 

I If the roots of the equation qx2 + px + q = 0 are complex, . where P, q 

are real, then the roots· of the equ~tioil x2 
- 4qx + p2 = 0 are : 

(1) Imaginary 

(3) Real and unequal 

(2) • Real and equal 

( 4) None of these 

8. If 2 + iv3 is a root-of the equation x2 + px + q = 0 where P. and q are . . . 
real, then (p, q) is equal to: 

(1) (4, -7) 

(3) (-4, 7) 

(2) (4,7) 
' .. 

(4). (-4, -7). 

9. If eleven members of a Committee at a round. table, so that the 
' . .. / 

Chairman· and Secretary always .sit together, .. then the number of 

arrangements is : 
'l . -

(1) -~ .• .· (2) ~ 
' 

, ' 
I • I . ,. 

I 

(3) ~x 2 
' 

(4) ~xz 
., 

10. I A man has 7 friends. In how ~any ways, he can invite one or more· of 

them to a tea party : 

(1) 127 . (2) 

(3) 256 . (4) 

G-EE-June-2025(Mathematics) Code-A 
(2). 

~·- ;. 

128 
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11. 

.Questions 
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How many words can be made from the letters of the word DELHI; if L 

comes in the middle of every word? 

(1) 24 (2) 12 

(3) 6 (4) 60 ' ' 

12. I The number of ~ays of distributing 8 identical balls in 3 distinct boxes 

so that none of the boxes is empty, is : 

(1) 5 

(3) 21. 

(2) 

(4) 

3e 

8C3 

I 

13. If the 4th term in the expan_sion of (j x - ix) n is independent of x, then 

n is equal to·: ' '. 

I (1) 5. (2) 6 
- I 

(3) ·9 (4) None of these 

14. I The coefficient of x~ in the.expansion of (1 + x + x~ ~--··--)-n is: 

15. 

I 

' . 

(1) -n+ 1 

(3) - 1 
\ ! 

(2) n 

(4) (-l)n 

The middl~ term in the ~xpansion of ( x2 + 'i1 + 2) n is : 

(1) Ln 
. l_1n 
(2) 

Lln (Ln)(Ln) 
·. ,, 

l1n 
(3) l.ln (4) ln-1 ~

1
-'.1 

\ 

. 
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r Question 
No. 

/' Questions 

The sum of n terms of the series 1.4 + 3.04 + 5.004 +-------- 18 : • 16. 

(1) n 2 + ~ ( 1 - 1~n) 

• 2 9 ( 1 1) (3). n + 4 10
n -

(2) . ~ + n2 
( 1 - 1~n) 

4( - 1 ) 
(4) . n2 + 3 1 - !Off 

. . . . 1 
17. 1 If the pth term of an A.P. -is q, qth term_ is p, then its rth _term 1s : 

(1)- p + q + r 

(3) p + r-q 

(2) p + q - .r 

(4) p-:- q - r 

18. I Fifth term of a <lP. is 2, then the product of its nine term is : 

(I) 1024 

(3) 512 

(2) ---256 
·{ 

• J 

( 4) None of these 

100 

19. I Let CZn be. nth term of ·a G.P. of positive numbers. If L a2~ = a and 
• n=l • 

20. 

100 

L a2n-1 = P, then the common ratio ofG.P. is : 
n=l • 

' 

I (1) ff 
.., 

(2). K. 
(3) . f!_ (4) 

a -. a p 

The sum of cubes of n natural numbers is : 

(1) Q;n)2 . 

(3). (!n2)3 

(2) (1;n)3 

(4) None of these 

U~EB-June:..202o(Mathematics) C.ode-A _- ~· • ·. • 
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The value of ,l for which the lines 3x + 4y = 5, Sx + 4y = 4 and 

,lx + 4y = 6 meet at a point is : 

(1). 4 

(3) 2 

(2) 3 

(4) 1 

22. I A straight line through P(l, 2) is such that its intercept between the 

axes is bisected at P. Its ·equation is : 

• 23. 

(' 

(1) X + y i:::: -1. 

(3) X :½- y = 3 

(2) 2x + y = 4 

(4) .x + 2y = 5 

Equation of a straight line p~rpendicular to the line 3x:. - y + ? = 0 and 

passing through (5,2) is: 
. 

(1) 3x : y ~ 1_1 = 0 

(3) X + 3y - 11 = 0 • 

(2) x-3y~ll=O 

(4) X - 3y + 11 = 0 

24."· .I For- what __ value of K, the points (K,2-2K),(-K+1,2K) and 

(-4 - K, 6 - 2K) are collinear? 

(1) K = -1 

(3) K = 1 
•\ 

'(2) K = -2 

(4) K-= 2 

25. The point ·of the parabola y2 = 18x for which the_ ordinate is three 

• times the abscissa. is· : 
.. 

• (1) (2, 6) · •. - (2)' . (6,2) . . 

(3) • (3,.18) 
,· ·-: -~~); (-2;-:-6) .• \ . . 

'· 
I• •· .. '\ 

. ... . \ : . •.• . . ,. \ 
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In an ellipse, length of minor axis is 8 and eccentricity is 3 • ·The 
. ..ff, 

26. 

length of major axis is : 

(1) 6. 

(3) 10 

(2) 12 

(4) 16 

27. I The eccentricity of a rectangular hyperbola is: 

1 (2) ;_..fi. 
(1) -

.fi -

'(3) ../2 t' 
(4) 

1 
" - ti. 

., 

28. I The equation of circle whose centre is (0, 0) and area of the circle is 

154 sq unit is given by : 

29. 

-· ' 

(1) x2 + y2 = 7 
-

(3) x2 + y2 = 11 

l. sinx. I to 
1m -- 1s equa : 

X➔OO X 

(1) 0 

(3) (X) 

(
3x/2_3). 

30. ,. :1 1~ 3r _9 1s equal to : 

(1) 0 
i -
L ' I . ; 

1 
(3) - - ... 

3 

•' 

·~ - -·· (2) x2 + y2 = 22 

( 4) • x2 + y2 • 49 
--

, (2) 1 

(4) • .Doesn't exist 

(2) 
1 .... 
6 

j 

I (4). log 3 

UG-EE-June-2025(Mathematics) Gode-A 
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No. 

{ 
x2-9 

. 

31. If f (x) = x-3 ' 
ifx =I:- 3 is continuous at x = 3, then k is equal to: 

2x + k, otherwise -

(1) 3 (2) 
1 

. -
6 

~ 

(3) 0 (4) -6 

32. A set contains n elemerits. Then the number of elements in Power Set 
-

are: •• I . . - ' . 

! (1) n2 
•) I ' . (2) n 

I 

I 

I 

' - . 
. 

. (3) czn - 1) • ' (4) zn 
-

33. Two sets A and B are called Disjoint sets, if A n B is : 
' . 

(1) </> • (2) 0 
. 

. 
. (3) l (4) None of these 

• 34. If A = {1, 2, 3, 4} and B = {4, 5, 6,.7}, then B -A is given by: 

(1) </> 
' (2) {S,6,7} . 

•. 

(3) {1,2,3} ' 
(4) None of these . -

'. 

35. In a city 20_% of the population t~avels by Metro, 50% by Taxi and 10% 

• travels by both Metro and Taxi. Then persons travelling by Metro or 

Taxi is: 
. . ,• ' 

' ,. 

' (1) 60% (2) 70% ' . 

(3) 40%. ' 
(4) 80%' 

. 

UG-EE-June~2025(Mathematics) Code-A 
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Question 
No. • 

36. 
. i 

c · , Questions 

(~)4zn+1 + 33,n+l is divisible by which of the following for all n EN: 

(1> 2 • ' c2> 9 • • 

37. 

38. 

39. 

(3) 3 (4) 11 

If cos-1 x - sin-1 x = 0 then xis equal to: , . 
. ,. 

1- 1 
(1) -

, (2) -72 ...fl. 
. 

(4) ' ~Jz I (3) v'2 
I The value of sin(cot-1 x) is equal to : 

(1) -../1 + x 2 

(3) X 

(2) 

(4) 

(1 + x2)-1/~. 

1 

X 

The value ·of sin [i- sin_:1 (-½)] is equal to: 

(1) 0 
1 

(2) -
2 

- I (3) 1 (4) ·• -1 
-. .. 

40. tan-~½+ tan-1 ½ + tan-1 ½ is equal to: 

7r (1) 7r ,· ' (2) -' ; . J. I I 

2 -:-

1C r • 7r. 
I (S) 3 ~ , . 

(4) -
4 

.41. 
If A = [: !] and A 2 = -~ !], then the val~e .of a and pis: 

\ 
(1). a= a2 + b2,P = 2ab 

(3) a= a2 b_2,p = 2ab 

(2) 

(4) 

UG-EE-June-2025(Mathematics) Code-A 
(8) . 

a2 2 . 
a= 72.,p = -ab 

b 3 

a ~ a2 _ b2, p = ab 
. 2 

• i_ • j 
~- r . ~ , -

l ,- I . ,·' 

• . 
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Question 
No. 
42. 

43. 

44. 

45. 

' 46. 

Questions 

Each diagonal element of a skew-symmetric matrix is : 

SET-:--X, 

Code-A 
- . -

(1) Always zero (2) Always imaginary 

(3) Always one (4) None of these 

The matrix A which satisfies the condition[~ • i] A=[~ _;_] is given 

by: 
\ -

(1) [! -~l (2) [
1 •. 4] 
0 -1 

(3) • ·r_! ~] (4) None of these· 

If a square ~atrix A is such that AA' = I = A' A, then IA I is equal to : 

(1) +2 

(3) ±1 

1 a b+c 
1 b c T a I is equal to : 
1 c a +·b 

(1) abc · 

(3) 1 

(2) 

(4) 

- (2) 

(4) 

0 

None of these . 

a+b+c 

Q. 

◄ 

If-9 is a ro.ot of the equation 2 x 2 = 0, then the other two roots 
. Ix 3 7I 

•·are: 

(1) 2, -7 

(3) -2, -7 

7 6 X 

(2) · 2, 7 • 

(4) -2.7 
.... ' 

UG-EE-June-2025(Mathematics) Code-A ·• ' • f • ~ " . • • . • (9). 
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Question 

I No. I If A = {; :_;]. then adj A is given by: 47. 

Questions 

48. 

49. 

(1) [~ • i] 
(3) r-s 2] 

3 1 

(2) 

(4) 

(5 -21 
.3 · 1 r 

(
..:..5 -21 
-3 1 

[
,1 2] • · . 

If A = 
2 

A and IA3 I = 125, t~en the value of_il 1s : • 

(1) +3 - (2) +5 

(3) +1 

If xy = ex-y, then: is equal to: 

y 
(1) X(l+y) 

(x-1) 
(3) x(l+y) 

_ (4) ±2 

(2) 

(4) 

(x-l)y 

x(l+y) 

(x+l)y 

x(l-y) 

SE·T-X 
Code-A 

50.- 7---.- · . • • -- -· - dy · · 

If y = Jsinx -f- Jsinx + v'sinx _____ ~-°"•then dx is equal to : 

sinx 
- (2)' 

cosx (1) -2y-1 2y-1 

sinx cosx (3) (4) -1-2y l-2y . 
a2y 

51. • I If x = at2
, y = 2at, then -d 

2 
at t = 2 is: 

-X 

(1) 16a 1 
(2) 'i6;; 

(3) 1 --16a (4) 

UG-EE-June~2025(Mathematics) Code~A 
(IO) . 

None of these 

I c. I .... 

Question 
No. 

52. The derivative of log 

(1) - cosecx 

(3) cotx , 

Questions 

l+cosx. ---1s: 1-cosx 

(2) cosec x 

(4) - cotx 

SET-X 
Code-A 

53. The interval in which the function y = x 3 + Sx2 - 1 is decreasing is 

54. 

given hy: • ·. 

10 
(1) - < X < 0 

3 .• 

_, (3) - 10 < 3x < 0 

10 
(2) 0 ~ X < 3 

• (4) 10 
-3 < X < 0 

The minimum value of x 2 + -1 l z IS, at : 
+x 

(1) X = 1 

(3) - X = :_1 

(2) X = 0 

( 4) None ·of these· 

55. The point on the curve .../x + Jy . -Ju. at which the normal is parallel to 

the x-axis; is : 

(1) (0, a) " 

(3) (ci, a) • 

·(2) (a,0) 

(4) (0,0) 

56. I For the curve y = e 2X., the equation of tangent at (0, 1) is: 
• . . 

l 

(1) · y ·= ""'.92X + 1, ''· ' (2) _ • y =:: - 1 • + :ix · 
I i • 

(3) y.= 2x + 1- 1,t• 
• '!' • 

UG-EE-J une-2025(Matheina;.ti • . . 
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Question 
No. 

-

f 
ex(l +sin x) -

57. I . dx is given by: 
(l+cosx) • 

X . 
(I) ex tan 2 + c 

X (3) ex cos 2 + c 

58. f 
dx 

x~✓x is given by : 

(1) Jog(yx + 1) + C 

(3) ½ Jog( ✓x· + 1) + C 

59. f ex 
(2+ex)(1 +ex) dx is equal to: 

Questions 

(2) 
·x 

ex cot-+ c' 
2 

(4) ex sin~+ c 
2 

.., 

(2) 2 log( 'IX + 1) + c 

(4) log(x + 1) + c • 

J 

- .. 

(
1-eX) (l+eX) 

(1) log Z+ex + c .. (2) . log Z-ex + c 

SET-X 
Code-A 

-

(
1-eX) (1 +eX) - ,· -

(3) log z=ex + c (4)' log Z+eX + c 

60. I . x2 - • J-2-
dx is equal to ; r , 

X +4 · 

• '· X ' X 
(1) ~ ~ 2 tan-1

2 + C .(2) X + 2 tan-1
2 + C 

X X X x· 
(3) --tan-1 -+c (4) -+tan-1-+c , 

• I 2 2 2 · 2· • 

61. , I J l+tan2 x 
2 

• dx is given by: 
1-tan x 4 , , • , .. 

, ' . 
1 1 /l+tanx/ 11+tanx1 • 

(l) 2 °~ l+cotx + c (2) log 1-tanx + c • ·1 

1 • /l+tanx/ f l+cotxf • (3) - Jog -- + c ( 4) log 
1 

+ c i- , 

2 1-tanx -tanx 

UG-EE-June-2025(Mathematics) Code-A 
(12) 

r' '~ 

SET-X 
Code-A 

Question 
No. 

Questions 

, d2y (dy)3 . 
62. I The order of the differential equation dxz + dx = 0 18 : 

63. 

64. 

65. 

(1) 1 
I 

(3) 3 

(2) 2 

(4) 0 

. . . dy _ x(2 log·x+1) is: 
The solution of the differential equation dx - siny+ycosy 

(1) y = x2 log_x + C 

(3) y sin y = x2 log x + c 

I The · integrating factor 

dy y 2 . 
- - - = 2x + 3x + 4 1s : 
dx X 

1 
(1) x2 

(3) X 

x dy-y dx is equal to : 
x2 • 

(1) i(~) 
. y 

. (3) d(x + y) 

for 

(2) 

(4) 

solying 

(2) 

(4) 

y = x2 sinx + c 

ysiny = logx + c 

the 

1 

X 

1 
X 

differential 

(2) -~(xy) 

(4) d (~) 

equation 

66.. I If il, v and w ·are three yect~rs such that il + v + w = 0, then find 

il. v + v. w + w. il, if lill = 3, lvl = 4 and lwl = 5 : 

(1) 52 

(3) 25 •• 

' 

. (2) _52 

(4) 53 • 

UG-EE-June-2025(Math~matics)" Code-A • 
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Question 
No. 

Questions 

67. 

68. 

69. 

70. 

1(1a1 = IEI, then (a+ b). (a - b) is: 

(1) Positive 

(3) Zero 

(2) 

(4) 

Negative 

None of these 

If 8 is the angle between. the vectors a = 2 z + 2 J - k and b . . 
-then: 

(1) 
4 

cos 8 = 21 (2) 0 
3. 

cos = 19 

2 2 
(3) cosB =- (4) cos0 = 21 19 

.... )2 If a is any vector, then ca X i)2 + ca X j)2 + (a X k is :.-__ 

(I) 2a2 (2) 
a.2 -2 

(3) a2 + 2 (4) a2 - 2 

If a line makes angles a, p, y with coordinate axes, then 

cos 2a + cos 2P + cos 2y is : 

(1) 3 

(3) -2 

(2) -1 

(4) 2 

SET-X 
Code-A 

6t 

I~ I 

,,! 

I 
I 

-
-

3J + 2k, 

I I 

I • I · 

71. The equation of the plane passing through the intersection of the 

planes x + 2y + 3z + 4 = 0 and 4x + 3y + 2z + 1 = 0 and the origin is : . . . 

(1) 2x + 3y + z = 0 (2) 3x + 2y + z = 0 

(3) X + y + Z = 0 
(4) 3x + 2y + z + 1 = 0 

UG-EE-June-2025(Mathematics) Code-A 
(14) 
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Question 
No. 

Questions 

I 

72. The triangle formed by the points (O, 7, 10),(-1,6,6), (-4,9,6) is: 

73. 

74. 

75 . 

L 
76. 

77. 

78. 

(1) Right angled (2) Equilateral 
(3) Isosceles (4) Right angled isosceles 
The distance of the point (2, 3, -5) from the plane x + 2y - 2z = 9 is : 
(1) 3 

(3) 1 

(2) 4 

(4) 2 

If R is a relation on a set A such that R =· R-1 , then R i~ : 
(1) Transitive 

(3) Reflexive 

(2) • Symmetric 

(4) None of these 

The function f(x) = log(x + ✓x2 + 1) is: 

(1) A periodic function 

(3) An odd function 

(2) An even function 

(4) None of these 

Let.R be a relation on N defined by x + 2y = 8. The domain of R is: c L· 
(1) {2, 4, 8} 

(3) {2,4, 6} 

(2) {1,2,3,4) 

(4) {2,4~6,8) 
R is called a symmetric.relation on A, if: 

(1) '(x,y) ER ~ (y,x) _fl R 

(3) - (x,y) ER => (y,x) ER 

(2) (x,y) e· R ( 1 1J ' ~ - - ER x'y 

(4) None of these 

Five boys and. three girls are seated at random in a· row. The 

probability- that no boy sits between two girls is : 

(1) 28 

2 
(3) 28 

(2) 

(4) 

1 

28 

3 

28 
. . 

UG-EE-June-2025(Mathematics) Code-A 
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Question 
No. 
79. 

Questions 

SET-X 
Cope-A --

Two cards are drawn at random from a pack of 52 cards., T~ 

probability that these two being ~ces is : 

1 1 
(l) 221 (2) 122. 

1 
•I (3) • 21; 

1 
(4) m 

• / 80. / A bag contains 8 red and 5 white· balls. Three balls are drawn ~ 
random. The probability that one ball is red and t~o balls are white is : 

, 

81. 

40 40 
(1) 139 (2) -

143 I •• 
I 

(3) 1;9 
4 

'(4) -
·, 143 

A coin is tossed and a die is rolled. 1he probability that the ~Qin shows 
. . 

a head and the die shows 3 is : 

1 
(1) -

3 

1 ., (3) -
12 

1 
(2) 6 

1 
(4)· 24 

,, 
., 

. • . 3 
82. J The probability that at least one of the events A and B occurs is S· If A 

and i, occiir simultaiieously with probability ~. then PU') + P(B') is : 
. 5 .. 

. 6 
' 4 (1) - - . 

(2) -5 
s· 

I 
(3) ?. . 

(~) •• ~ 5 
5 

,. 

UG-EE-June-2025(Mathematics) Code-A ·. 
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Question 
No. _.__ 
83. 

84. 

85. 

86. 

I 

Questions 

SET~X 
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If two coins are tossed 5 times, then the probability of getting 5 heads 

and 5 tails is : 
. 9. 

(1) 64 

•1 
(3) 1()24 

(2) 
2 

205 

63 
(4) 256 

A Coin is tossed 10 times. The probability of getting exactly s~ heads 
18: 

(1) ~ ,. 
(2) 10c 153 . 6 

(3) ~ 
(4) lOC4 512 . 

A box contains 3 white and 2 red balls. H we draw one ball and without 
• . 

replacing_ the first ball, the probability of drawing red ball in second 

draw is: . -
' -- 8 -

2 (1) 25 ·, (2) -' 
5 

. 3 . . ..._ 

21 (3) - . 
(4) -' s 

25 

I If 3 < lxl < 6, then x belongs to : 

"(1) ! .( .:..6, -3) U (3, 6) ' (2) (-6,6) 

(3) ( ..:.3, -3) U (3, 6) '(4) None of these 
87. I If ab~ 4 and a,b e R+, then:· 

(1) a+·bs4 '. • • • ' .. (2) .(a+b)=4 

(3) a+ b ~ 4. • (4) • None of these ---• • I -

. ' 

UG-EE-June-2025(Mathematics) Cod~A' · · · · ··• ' 
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No. 
88. Area lying between parabola y.2 = 4ax and its latus rectum is : 

4 8 I 

(I) 3 a
2sq. unit (2) 3 a

2
sq. uni\ 

(3) :
6 

a2sq. unit ( 4) None of these 

89. 0 J dx • 

90. 

91. 

-1 x2+2x+2 is equal to: 

(I) ~ 
4 

(3) ~ 
2 

7C/4 • 

(2) 

(4) 

Tr --4 

0 

The value of J x3 sin4 x dx is equal to: 
.:. _,r/4 

7r 7r 
(I) - (2) -.2 4 -

'' 

(3) !! 
8 

(4) 0 

- . 2 • 
Area bounded by the curves -y2 = x and y = x is : • 

I 2 -
(1) 3 sq. unit (2) 1 sq. unit 

1, ~:;" I 

•..;.,1_•_.,,. .. 

(3) I sq. unit ( 4) . None of these 

92. 1 

A linear programming problem is concerned with fin~ng the : · 

(1) Any value of a linear function 

(2) Unsatisfactorily value of a linear function 

(3) Optimal value of a linear function 

·• ( 4) None of these 

UG-EE-June-2025(Mathematic~) Code-A 
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93. 

Questions 

SET-X 
Code-A 

In the formula of ~ode given by l + h( f1-fo ), frequency of the 
2/1-fo-/2 

modal class fs : 

(1) /2 

(3) lo 

(2) /1 

(4) h 

94. _ J In the formula of median given by I + (r;t) x h, the class size is : 

., 95 .. 

(1) cf 

(3) h 

(2) l 

(4) n 

The empirical relation between the three measures of central tendency 

is: 

(1) Median = Mode + 2 Mean _ 

(3) 3 Median = 2 Mode + Mean 

(2) Mode = 3 Median + Mean 

(4) . 3 Median= Mode + 2 Mean 

96. - I Standard deviation is a measure which shows how much variation 

from the: 
- - .. -

(1) Mean exists (2). Mode e~sts 
~-

(3) Variance e~sts (4) None of these 

97. The angle between ·the planes r. (2t-J + K) - 6 and r. (t + J + 21c) = 5 
-. 

18: 

I· (1). __ i· (2) 

• I 

I (3) ~ . 
• 

' .(4) 
4 

UG-EE-June-2025(Mathematics) Code-A 
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98. 

.... d equation of plane is r. n _ 
If equation of a line is r = a + lb an - q, tb. 

. by. 

angle between line and plane is given • 

8 
b.n 

(I) 8 b. n (2) sin = 1"61 IHI 

cos = f Gf f nl 

bxn 
(3) cos 8 = fbxnf 

99. A statement is a sentence which is : 

(1) Always True 

(2) Always False 

(4) None of these 

(3) Either True ~r False, but not both simultaneously 

(4) None of these 
. ' 

100. Neg-ation of.negation of.a statement .is: , 

. ~l\ 

(1) Not defined (2) . ·True and False 
. 

(8) • Th~ statement ifself (4) None of these 

UG-EE-June-2025(Math •. 
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Question 
No. 
1. 

. 
Questions 

SET~X 
Code-B 

The equation of the plane passing through the intersection of the 

planes x + 2y + 3z + 4 = 0 and 4x + 3y + 2z + i = 0 arid the ·origin is : 

(1) • 2x + 3y + z = .o (2) 3x + 2y + z ~ O 1 

(3) X + Y + Z = 0 • (4) 3x + 2y + Z + 1 = 0 

2. . • The triangl~ formed by the points (0, 7~ 10), (-~, 6, 6), (-4, 9, 6) is : 

(1) Right angled • (2) Equilateral 
i • I 

(3) Isosceles ( 4) •. Right angled isosceles 

3. The distance of the point (2, 3, -5.) from the plane x + 2y- 2z = 9 is: 
-

(1) 3 ' ' (2) 4 . . ' ' \ / ' 
' : 

.. 

(3). 1 
. ;. 

(4). z.· . .. -, ·-. .-

4. If R is a relation on ·a set A. such .. that R ~ R.:.1; then R is : 

5.: 

. 
'. ,· , .. ::~~- ;,, ".~~ . ··• .. ,:_. :•~. •,...,; .. ,:-. .,.• :· 

• (1) • Transitive. , . . . (2) Symmetri~ 

(3) · Reflexive ' , (4) None of these , 
., .. 

The_ function·[(~) = log(.x + ✓x2 + 1) is: 
I 

(2) An even function -(1) A periodic function 

"(3) An odd function . (4) l -~_.None of these_. -

6. Let R be a relation on N defined by x + 2y ·=. 8 .. 1'he domain of R is : 
. ' . .. ., . . 

7. 

(1) • -{2, 4, 8} 

(3) {2,4,6} 
.. 

- ' 

., (2) • {1, 2, 3, 4} 

(4) •. {2, 4, 6, 8}. ·, 

R is called a synimetric•relation on A, if: 

(1) (x,y)ER => (y,x)ER '(1 1) (2) • (x,y_) ER. => x~y ER 

(3) (x,y) ~ R. => • (y,x) ER 
. ' 

(4) 

• UG-EE-J~ne-2025(Mathematics) ·code~B 
, (1) 

.. , \ . . 

None of these· .. 
•. 
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Question 
No. 

Questions 

Five ·boys and three girls are seated at random in a row. _ T~ 

probability that no boy sits between two girls is : 
8. 

9. 

10. 

(1) 28 

2 
(3) 28 

1 
(2) 28 

(4) 
3 

28 

I 

Two cards are drawn at random from a pack , of 52 cards.· T~ 

probab~ty that these two being aces is : 

1 
(1) 221 

1 
(3) 212 

1 
(2) -122 

1 
<4> . m 

A bag contains 8 red and 5 white balls. Three balls are drawn at . . . 
, I • I • , I ~ 

random. The probability that one ball is red and two balls.are white is: 
• ' ' " 

(1) 40 
40 

<2) 143 
139 

'9 ,· -. 

4 
(3) 139 

4 ., 
(4) .• .143 t 

11. j· If x = at2, y = 2at, then d
2
y
2 

at t' = 2 is : 
• • dx .. . .' .. , 

(1) 16a -

r 1 
(3) -16a 

12. Th d • t· f I ✓l+cosx. e enva 1ve o og 
1 

1s : 
-cosx 

(1) -cosecx 

(3) • cotx 

(2) 
1 

16a 

(4) None of these 

(2) cosecx 

(4) -cotx 

UG-EE-June-2025(Mathematics) Code-B 
• • (2) 
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Question 
No. 
13. 

14. 

-- ·,..-.. --
\ 

Questions 

SET-X 
Code-B 

The interval in· which the function y = x3 + Sx2 - 1 is decreasing is 
,, 

given by: 

10 • 
(1) 3 <_ X < 0 (2) 

(3) 10 < 3x < O (4) 

. 1 . 
The minimum value of x2 t l+x2 1s, at: 

(1) X = 1 ::.· 

(3) X = :~1,. r 

(2) 

(4) 

10 
O<x< 3 

10 
--· <x<O 

3 

l: = 0 

None of these 

15. The point on the curve {i + .Jy = {a at which ~he normal is parallel to 

the x-axis, is : 
. \ ·- .. ,. 

(1) (O,a} (2) (a,O) 
• l . 

(3) (a,a) (4) (0,0) 
• 

16.1_~; \Forth~ ~~e y . -~~x ~ ·t~e_equation.'of t~ngent a_,t (0, :) _is,:. , 

, (1) y· = -2~·+ 1 (2) y = -1 ·+ 2x 
r 
.. 2 

(3) Y, = 2x + 1 (4) Y=--x-1 . 3 
\ 

.. 17_ f ex(l+sinx) ... • ... 
., .. , \ . . .. dx 1s given by~ ' I 

1 p+cosx) •. . . . • I • 

. . X 
(2) 

. X . 
(1) ex tan2 + c ' ex cot-+ c • 

• 2. ., .• 

X .(4). X 
(3) ex cos2 + c ~ 

. . e~ sin 2 -r, C-t . 
' ., 

• UG-EE-J une-2025(Matheniatidi)-C~e!.B 
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Question 
No. 

18. 

19. 

J
·dx 
x+../x is given by : 

(I) )og(vx + 1) + C 

1 ' ' 
(3) 2 log( VX + 1) + c 

J , ex 
(2+eX)(1 +eX) dx is equal to : 

(
1-eX) 

(I) Jog 2+ex + ~ 

(
1-eX) 

(3) Jog_ 2-ex + c_ 

Questions 

.SET-X· 

Code-B 

(2) 2 log( ✓X + 1) + c • 

(4) log(x + 1) + c 

( l+eX) 
(2) log 2_ex + c 

(
1+ex) • • 

(4) Jog 2+ex + c 

20. 
r2 . 

I f x2- dx is equal to : 
' 

21. 

22. 

+4 . 

(1) ~-2tan-1 i+c 
. I 

X X 
(3) - - tan-l - + C 

2 2 

(2) 
1 X . 

x + 2 tan- 2 + c 

(4) 
-X 1 X 
-+ tan- - + c 
2 • 2 

{ 

x2-9 ·, 

If f (x) = x-3 ' if x * 3 • is continuous· at x = 3, then k is equal to : 

. . • • 2x + k, otherwise 

(1) 3 

(3) 0 

(2) 

(4) 

1· - ~· p ... 

6 1;' 

-6 

A set contains n elements. Then the number of elements in Pow'er Set 

are: 

(1) n2 

(3) c2n - 1) 
, 

(2) n. 
(4) · zn 

UG-EE-June-2025(Mathematics) Code-B 
(4) •. 

Question 
No. 

23. 

24. 

25. 

Questions 

Two sets A and 8 are called Disjoint sets, if A n 8 is : 

(1) <I> 

(3) • 1 · 

(2) 0 

(4) None of these 

SET-X 
Cod&-8 

-

If A = {1, 2, 3, 4} and 8 = {4, 5, 6, 7}, then 8 - A is given by: 

(1) <I> (2) {5,6,7} 

(3)' {1, 2, 3} (4) None of these 

In a city 20% of the population travels-by Metro, 60% by Taxi and 10% 

travels by both Me~ro and Taxi. Then persons travelling by Metro 03: 

., .

1 

Taxi is : 

• (1) 60% 

. 
(2) 70% 

.(4) 80% · (3) 40% 

26. I (2)42n+l + 33n+l is divisible by which o{ the following for all n E N : 

·, 

27. · 

I, .·.·· -· . 
<. .-.. 1 

28. 

(1) 2 

·I (3) 3 

(2) 9 

(4) 11 

If cos-1 x - sin:-1 x =· 0, then x is equal to : 

(1) ~ . (2) 
1 

.fi. - ti 

'· (3) {2 . (4) --ti. 

The value of sin(cot-1 x) is equal to: 

(1) '11 + x 2 (2) (l + x2)-1/2 

(3) • X (4). ! 
X 

UG-EE-June-2025(Mathematics) Code-B 
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{ Question 
No. 

Questions 

29. The value of sin"[f- sin-1 (-½)] is equal to: 

1. 
(1) 0 (2) -

2 
! " , 

, 

(3) 1 --. ' -· ·I (4) -1 
• I 

30. I tan-~}+ tan-1 ¾ + tan-1 i is equal to: • 

7r 
(2)·. (1) TC -

2 
J .• I J 

.. ,,. . .-. . 
(3) ~ 

TC 

:' r • , . (4). - . 
3 l , . . '' . . 4 .. 

!' 

. \ 
' .... ) 

. J . 

' 
. .... , 

SET-X 
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I 

\ 
• • I 

,. 
, . . 

31. I How many_words can be mad~ from the letters of the word DELHI, if L' 

' comes in the middle of every word? 

(1) .24 

(3) 6 

(2) 12 

(4) • I 60 

• ·' 

.J - i 

\ f: # _., • 

.. : ; 

1. ( ..,_ 
" .... 

I 

82. I The number.of ways of distributing 8 identical balls in 3 distinct boxes 

' 

s() that hone of the boxes is empty, is: 

(I). 5 

(3) 21 

L.•,1;'•:·.4. f~ 

v , (2) 38 • l 

(4) 8C3 

\ ! ~ I 

I ( ,TJ 1.~ 

\ I. ' ; 

.. . ,;. ~ 

83: If the 4th term in the ~xpahsion of (f x - 2:) n is independent of x, ·then 

!. 
.. • • ~ ~ ,l .· ,, ~ , ~, • ·! 

n is equal to : . .. ...,, 

i 
(2) 

f 

(1) 5. J • 6 .. ' 

• I • 
' (3) 9 (4) None-of these. 1~·· 

UG-~une-202o(MathematicsJ Co~e-B 1~ .;, f • 
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No. 
34. 

'' 

Questions 
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The coefficient of xn in the expansion of (1 + x + x2 +------)-n is: 

(1). n + 1 

(3) 1 

·(2) n 

(4) (-l)n 

-n--

35. ·1 The middle ter~ in the expansion of ( x2 + ~ + 2) is _: , 

(1) • Ln l.ln 
. (2) 

(Ln)(Ln) Lln . . ~ 

I L2n 
(4) -(3) L1 n , 

l..n..::.! . -... ... _.;., I '-

36. The sum of n terms of the series 1.4 + 3.04 + 5.004 +-~------- is : 
., 

2 
4 • 1 4 2 ( 1 ) 

(1) n_ + 9 ( 1 - _
10

n) . (2) -+n 1--. 9 10n 
I • 

' 
I . . . I 

.' I 

. -
(3), •. n2 + ~(~ ~ i)·; · ··: (4) 2 4( • 1 ) 

n +3 1- lOn 
. . 4 10 ... 

37. If the pth term of an A.P. is q, qth term is p, then its rth term is : 

I .. 
. (1) p ·+ q + r. . . (2) p+q-r I 

' I 

I, (3). p + T - q 
• 

(4) · p- q -r 

38. L Fifth term of a G.P. is 2, then the product of its nine term is: 

(1) 1024 

(3). 512 
, 

• (2). 256. 

(4) • None ·of these 

UG-EE-June-2025(Mathemati~)·Cod~B 
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Question 
No. 

Questions 
____________ _:_------110000 --

39. Let lln be nth term of a G.P. of positive numbers. If L azn = a and n=l 

100 
L -azn-1 ~ p, then the common ratio of G.P. is: 

n=l , 
I 

(1) .ff (2) ! 
(3) p 

a 

a 
(4) .p 

40. The sum of cubes of n natural numbers is : 

(1) Q:n)2 (2) Q:n)3_ 

(3) Q:n2)3 • ( 4) None of these 

41. 2 2 • Area bounded by the curves y = x and y = x 1s : 
2 • \ ' . t ;_, 

1 sq. unit 
. ,. 

(1) 3 sq. _unit (2) 

1 
(3) 2 sq. unit (4) • None of these • · I • · I 

42. I A linear.programming problem is concerned with finding the : ' 

(1) Ap.y value of a linear functio_n 

(2) Unsatisfactorily value of a linear function - : 
.. 

(3) Optimal value of a linear function ~ I 

( 4) None of these 

43. ( f -f ') In the formula of mode given by l + h 
21 

:._
1 

~f , frequency o~ the 
' 1 0 2 I ' • • \ 

modal class is : 

(1) fz · 

(3) lo 

, 

(2) f1 
• (4) . h 

UG-EE-June-2025(Mathematics) Code-B 
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44. 

· 45. 

✓ 

46. 

I 47. 

Questions 
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I~ the formula of median given by 1 + (!71) x h, the class size is : 

(1) • cf 

(3) h 

(2) l 

(4) n 

., The empirical relation between the three measures of central tendency 

lS: 

(1) Median = Mode + 2 Mean (2) Mode • 3 Median + Mean 

(3) 3 Median = 2 Mode + Mean ( 4) 3 Median = Mode + 2 Mean 

Standard deviation is a measure which shows how much variation 

from the: 

(1) Mean exists (2) Mode exists 

(3) Variance exists (4}_ None of these 
., -

I, 

The angle between the planes r. (2i-J + k) = 6 and r. (i + j + 2k) = 5 

lS : 

Tr . 
(2) 

Tr 
(1) - -' 6 3 . -·- .. ' . 

Tr Tr 
(3) - (4) -4 2 I ' 

48.- I If equation of a line is r =ii+ Ab and equation of plane is r. ii= q, then 

angle between line and plane is given by : · 
l t . 

(2) • sin 8 :_ ~i ; .; , b. n 
(l) cos 0 = IEJ \nl 

•• -i· ,·~ 

bxn 
(3) co~ 9 . lbxnl (4) . . None of these 

. . 

• UG-EE-June-2025(Mathem~tics) Code-B • 
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Questions 

Question 
No. 
49. TI statement ·is a sentence which is : 

(I) Always True 

(2) Always False 

(3) Either True or False, _but not both simultaneously 

( 4) .None of these 

50. ! Negation of negation of a statement is : 

(1) Sot defined (2) True and False 

(3) The statement ifself (4) None of these 

5L I l+tm2 r 
f 

2 
dx is given by : 

1-tan r • <, 
•' ~· ' .'; { 

11 11+tanx1 
(1) 2 og 1+cotx + c (2) . 1 /l+tanx/ • . 

· og 1-tanx + C 

ser .... x 
Co9e--e 

• 

,. ,·. 

. ! r 
. I 

I 

. 
' 

.. .~; ; 

52. 

53. 

(3) !Jo /t+tanx/ + c 
2 g 1-tanx .. 

(4) _ Jo /l+cotx/ + c 
g 1-tanx 

•• • ~ d2y (dy)3 • 1. 

The order of the differential equation 2 + - = Ois: 
• •• ~- ~ 

(1) 1 

(3) 3 

(2) 2 

(4) 0 
. i 

Th I • fth d~~- t· 1· . • dy x(2 logx+ 1) . . 
e so ut1on o e weren 1a equation - = . 1s : 

dx smy+ycosy_ 

(l) y = x2 log x + c (2) y = x2 sinx + c 

(3) ysiny = x2 logx + c 
• 

. 
(4) • ysiny = Iogx + c 

f1G..EE..J:une-2025(Mathematics) Code-B 
• (10) 

' ,, . ·, ' , 

~ 

Question 
No. 

... 

'·. 

Questions 
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54. The integrating factor for solving the· differential equation 

55. 

r J( 

I 

d y , . 
2 - - = 2x2 + 3x + 4 is : 
dx X 

1 
(1) xz 

(3) X 

x dy-y dx ·is equal to : 
x2 

(I) d (~) : 
I • 

(3) d(x + y) 
~~· ' • ' ' ..:......,_ 

1 
(2) - -

X 

1 
• .(4). ; 

,_ 

(2) d(xy) 

(4) d (~) 

56. If u, v and w are three vectors such that il + v + w = 0, then find 
:. . 

it. v + v. w+ w. i1, if lill = 3, lvl = 4 and lwl = s : 

(1). 52 (2) -52 

(3) 25 (4) 53 

,II • 57. I If 1a1 = IE.I, then (a+ b). (a- b) is: 

~~--;:- ·~ ,· · (i). •. P~~itiv~- .~. . , 1 • • . , . (2) · Negative . · ..... 
-:. ' ' (. .. -~ . . ... 

•' 

(3) Zero (4) None of these 

ii 58. I if 9 is th~ ·angle • .;tw~n the _vectors. a = 2i + 2J- k and b = 6i - 3J + 2k, 
~ 

.. . 
. 

then: :• .. 
. . . 4 

{1) cos~_. 2r • .. 
. 

~ 
. . • 3 

(2) ·COS8 = t9 
. . 

' • 2 ~ ,,·_, 
(3) cos9 = 19 

\. · 
• . 2 
• ~ ( 4) •. cos 8 = n 
. • . .. 

. . 

UG-EE-June-2025(Mathe~µ9§),·§~,&m 
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Question 
No. 

59. 

Questions 

If a is .:ny vector, then ca X i)2 + (ii X j)2 + (ii X k)
2 

_is: 

iiz 
<1> 2a2 (2) -2 

(3) a2 + 2 (4) ii2 - 2 

SET-X 
Code-B 

~ 

60. I If a line makes angles a, p, y with coordinate axes, then 

cos 2a + cos zp + cos 2y is : 

(1) '3 (2) -1-

(3) -2 (4) 2' 

61. I A coin is tossed and a die is rolled. The probability that the coin shows 
-- ' ., t 

a head and the die shows 3 is : • 
. ··I 

1 1 
(1) 3. (2) -t - 6 

1 . 1 
(3) - ... ···- (4) -

12 24 . ,, 
- . 

62 .. 
. . . 3 • 

The probability that at least one of the events A and B occ_urs is 5. If A 

.• 1 ' • 
and B occur simultaneously with probability-, then P(A') + f (B') is : . . . . 5 ·, ' . ,•.• 

'6 \ 

(2) • ~ (1) -
5 5 

7 
(4) (3) -

5 

UG-EE-June-2025(Mathematics)' Code-B 
(12) I 

2 -
5 

I •. ~ :, 

n 

l:;: 

I I 

:=- -
SET-X 

Code-B • 
Question 

No. 
Questions 

• 

I 

63. If two coins are tossed 5 times, then the probability of getting 5 heads 

and 5 tails is : • 

9 2 
(l) 64 (2) - , 

20~ 

1 63 
(3) 1024 . . (4) -

256 

. 64. I A Coin is tossed 10 times. The probability of getting exactly six heads 

lS : 

( ) 
100 

I·-
153 

(2) toc6 

105 . 
(3) 512· (4) 10 

C4 

65. I A box contains ·3 white and- 2 red balls. If we draw one ball and 

without replacing the first ball, the probability of drawing red ball in 
I 

second draw is : -

(1) .!. (2) 
2 -

25 5 
l . 

21 
(3). i ' (4) I -

25 

66. - -If 3 < lxl < 6, then x belongs to: 

(1) ( -·6, -3) u (3, 6) (2) • (-6,6) 

(3) (-3, ~3) U (3, 6) ( 4) . None· of these 

67. If ab = 4 and c:i., b E R+, then ~ 

~ , (1) a+ b < 4, .,. · (2) (a+b} = 4 

., (3) a + b c!: 4 . • • . ~- ; (4) None of these 

. . 

UG-EE-June-2025(Mathematics) Code-B . 
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Question 
No. 
68. 

69. 

70. 

~-
• Questions i 

Area lying between parabola y2 = 4ax a~d its latus rectum is : 

4 • 

(1) 3 a2sq. unit (2) i a'sq. ·unit • 

---- ! •. , 

' 16 2 c:" 
(3) 3 a sq. unit (4) None of these 

-0-

If dx • . .. 
_

1 
x2 +zx+z 1s equal to~ •. -~-! , :.:•' 

), _J 

(1) ~ (2) 
7f 

4 
4 .• , I 

~ ~l 
I ·-

:,_ I , ,- r 

(3) 7t (4) 0 
2 ('\ •· 

'l .; . . 
Tr/4 

The valu~ of. f x3 si~4 
X dx is equal to: ;.: :•;: I 't I\•-, 

_TC/ 
I 

.. 4 
! ~ ~. ! ·,.$ , . "\ .. ' ~.. J '' )'' 

(1) ~ 
4 

(3) 7t 
• 8 

'f 

7r 
(2) •• 2 ' . 

(4) 0 ' i 

71. I If A = [: ~ and A2 = ~ !], the~ the value ofa and p' is : ' ' 

• ·2 . ..,. .. 
. ! .,. · • • a / · 2 · : · 

(I) a = a2 + b2, P = 2ab (2) a , -:,; , p = 3 ~b 
• - . "' , b . , . , . 

• • I 

(3) a~ a2 b2,P.= 2ab ;- (4) 2 ab 
a,;:a2 -b_,/J .T 

72. Each diagonal element of a skew-symmetric matrix is: ·, 

". 
(2)' Always imaginary ' (1) . Always zero • • \., 

(3) ~ways one • ·, i ! :· (4) - None of these~_ 
. \ 

' ' "'i 

~ ' ----

~ 
~ 

.' .. " 

'· 

I 

,j 

-

UG-EE-June-2025(Matheniatics) Code--B' '.:! ·.; 
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Question 
No. 

Questions 
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73. The matrix A which satisfies the condition- [~ ~] A = [~ _ ;] is given 

by: 

(1) [! -~1 (2) [1 4] 
0 -1 

o· 
(3) [_i 4] ( 4) None of these 

74.. I If a square matrix A is such t~at AA'=_ I= A' A, then IAI is equal to: 

(1) +2 (2) 0 

(3) +1 (4) None of these 

75. 111 a b + cl -·-

1 b· c +·a is equal to: 
1 c· a+ b 

(1) abc (2) a+b+c 

(3) 1 (4) 0 

x. 3 7 
76 . r If -9 is a root_ of the equation 12 X :21 = 0, then the other two r~ts 

. _ •. 

7 6 X 

are:. 

(1) 2,-7 .\. (2) 2,7 

:.· 1 (3) -2, -7. (4) -2, 7 

• •
177. ·I If A·= g · --~], then· adj A is given by: 

(1) rs. 21 
3. -1 

(3) 1-s . 2] • _ .: 
3 1 , . 

-; 
(2)" [~ -~1 
(4) 1-s -2] 

-3 1 _ 

UG-EE~une~2025(Mathematics) Code-B 
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Question 
No. 

78. 

79. 

Questions 

If A = [~ ~] and jA3 1 = 125, then the value of J_is: 

(1) +3 (2) ±5 

(3) +1 (4) +2 

If xy = ex-y, then dy is equal to: 
dx 

y 
(l) x(l+y) 

(x-1) 
(3) x(l+y) 

(2) 

(4) 

(x-,l)Y 

x(1+y) 

(x+l)Y 

x(1-y) 

SET-X 
Code-B 

80. Ify = Jsinx + Jsinx + ,J~inx _______ ~, then=~ is_equal to: 

81. 

82. 

• I 

I 

(1) sinx 
2y-1 

(3) sin x 
1-2y 

(2) 

(4) 

cosx 
2y-1 

.. cosx -1-2y 
,- -7 

.The value _of .,t for. which the lines· 3x + 4y = 5, Sx + 4y = 4 and . 
AX + 4y = 6 meet at a point is : 

(1) 4. (2) 3 . --

(3) 2 (4) • 1. • 

A straight line through P(1, 2) is such that its intercept petween the 
. ' axes is bisected at P. Its equation is : . ' 

I 

(1) x+y·=-1-
/ (2) • 2x + y = 4 

(3). X + y = 3 (4) X + 2y = 5 I 

UG-EE-June-202o(Mathematics) Code-B 
• (16) .• · .. 
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Question 
No. 
83. 

84. 

85. 

Questions 

SET-X 
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l 
Equation of a straight line perpendicular to the line 3x - y + 7 = 0 and 

passing through (5,2) is : 

(1) 3X + Y - 11 = 0 _ (2) X - 3y - 11 = 0 

(3) X + 3y - _ _11 = 0_ (4) X - 3y + 1-1 = 0 

For what value of K, the points (K,2 - 2K),(-K + 1,2K) and 

( -4 - K, 6 - 2K) are collinear? 

(1) K = -1 ., 

.(3) K = 1 

(2) K = -2 

(4) K = 2 

The point of the parabola y 2 = 18x for w bich the ordinate is three 

times the abscissa, is : 

(1) (2,6) 

(3) (3, 18) 

(2) (6, 2) 

(4) (-2,-6) 

t-'. v 
~ 

' 

86. In an ellipse, length of minor axis is 8 and eccentricity is "'; . The 

length of major axis is : 

,.- I (1) · 6 ...... 
(2) 12 

I • . .. . ..~ ~ 

(3) 10 
,._ 
_, (4) 16 .. 

87. • I The eccentricity of a rectangular hyperbola is : . ~ 

1 
(2) (1~-J ~ •.• .. . . /, 

JIJ . 
(8)' 42 . ' _; . 

• t I ,. • .. • .. 
(4) 

• -..... 

. . UG-E~-June-lOl&(Mathematics) Code-B 
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Question 
No. 
88. · 

89. 

90. 

91. 

92. 

.. s1:,-.... ~ 
Code---a --------.::..:: 

Questions 

Thi, equation of circle whose centre is (0, 0) and area of the circl • 
. 

e~l~ 

sq unit is given by : 

(1) x2 + y2 = 7 

(3) x2 + y2 = 11 

I. sinx • al to 1m -1sequ : x➔oo X 

(1) 0 

(3) 00 

lim -3 . --
(

3x/2 ) x➔2 3f_9 is equal to: 

. \ 

(2) x2 +·y2 = 22 • 

( 4) x2 + y2 = 49 

,~~.: ,~!- - C'= 

(2) 1 
... 

{4) Doesn't exist 

-
~-

' -- • s . •• ·.: 

1 -

' 

(1) 0 (2) 
6 

., .. ·' . : 

1 
(3) -

- 3 (4) log3 • 

If cos 8 = ½ ( x ~ ¼),_ then i { x2 '. ~) is equal ~ : : 
(1) sin28 

(3) tan28 
l .. 

(2) cos28 • 

(4) cot28 

If 
3

1r < a < TC, then v cosec2 a + 2 cot a is equal to : 4 . . 

(1) -1- cota 

(3) 1- cota 

(2) 1 + cot a 

(4) -1 + cot a 

I 

1-

! 

• ..:..'" '~ 1 
• 1, I 

,, 
t 

~-, • A~/ t 

~ ,, 

\ "-

' • 

• I ' 

.. ~ ........ 

~ 
.fi> 
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~ Questioo ,r"' Questions 

l'l 

·, 

No. -
~ • 93. If tan 28 tan 8 ,= 1, then the general value of 8 is : 

-..., 

(1) (n +½)n (2) (zn±½)i 
1 ~ • '\ t , • t 

• ,i • ' 

( ) ( 1)7r 
(4) None of th~se 

3 n+- - , 
! t ~ 2 3 - ,t' _,: , . 

--- -
. . 94.·; I If (w-* 1) is a cube root of unity and (1 + w)7 =A+ Bw, then A and B 

~I.- I are''given by : , J;' ! 

(1) o, 1 . 

(3) -1, 1 

:."". .... ;- r ., -

(/3 i)s (/3 i)s 
1
~5· .. ;Jlfz ... 2 _+ 2 + -~- 2 ,then:. 

(1) Im(z) = 0 

(3) Re(z) > 0, lm(z) ·> 0 • 

(2) 1,0 

(4) 1, 1 

(2) Re(z) = 0 

( 4) None of these 
96. The number of real roots of 32x

2
- 7x+7 = 9 is : 

(1) 2 

(3) Zero 

(2) 1 

(4) 4 

. 
'· 

97. I If the roots of the equation qx2 + px + q = 0 are complex, where p, q are 
real, then the roots of the equation x2 

- 4qx + p2 = 0 are : 

(1) Imaginary (2) . Real and equal 
(3) Real and unequal (4) None of these 

UG-EE-J.une~2026(Mathemati~) Code-B • (19). •. •. 
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ICQu~esa~•o;;n:i------------:Q=-u-e-=--st;:7io::n~s;­

No. 9 2 x+q == O where pan~ 

8• If 2 + i../3 is a root of the equation x + p q Ille 

real, then (p, q) is equal to: 

(1) {4, -7) 
(2) (4, 7) 

(4) (-4;-7) 
(3) (-4, 7) 

99· If eleven members of a Committee at a round table, 
80 
t~ 

Chairman and Secretary always sit together, then the number of 

100. 

arrangements is : 

(1)' ~ 
(2) ~ 

(3) ~ ~ 2 
(4) ·~ X 2 

A man has 7 friends. In how· many ways, he ~an invite one or_ more-;[ 

them to a tea party ~ 

(1) 127 

(3). 256 • 

(2) 128 

(4) 130 

UG-EE-June-2025(Mathematics) C d 
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Question 
No. 

1. 

2. 

3. 

4. 

5. 

IfA =| and 4 = al 

(1) a = a²+ b²,B = 2ab 

(3) a = a' b,B= 2ab 

(1) Always zero 

(3) Always one 

by: 

b] 

If a square 

(1) +2 

(3) #1 

|1 

l1 

Each diagonal element of a skew-symmetric matrix is : 

C 

-

b+ c 

(3) 1 

a B1 

(1) abc 

The matrix A which satisfies the condition 

b c+ al is equal to : 
a+ bl 

Questions 

then the then the value of a and ß is: 

(2) 

(4) 

(1) 

(4) 

(2) 

(4) 

(2) Always imaginary 

(2) 

a= 

(4) 

(2) 

a= a' b,ß= 

(4) 

UG-EE-June-2025(Mathematics) Code-C 

a2 

None of these 

matrixA is such that AA' =I= A'A, then JA| is equal to : 

LO 

None of these 

SET-X 

Code-C 

None of these 

ab 

a+b+c 

2 

given 



Question 
No. 

6. 

7. 

8. 

9. 

10. 

are: 

If-9 is a root of the equation 2 x 

(1) 
(3) -2,-7 

IfA = 
(1) 

2, -7 

IfA =|1 
(1) +3 

(3) ±1 

(1) 

(3) 

2 

(1) 

If xy = e*-y, then 

(3) 

x(1+y) 

21 

(x-1) 
x(1+y) 

sin x 

2y-1 

sin x 

Ify =sin x + /sin x + ysin x 

1-2y 

Questions 

dy 
dx 

|x 3 

then adj A is given by : 

I7 

is equal to : 

6 

(2) 

(2) 

(4) 

(2) 

(4) 

and |A= 125, then the value of2 is : 

(2) 

(4) 

(2) 

(4) 

(2) 

7| 

(4) 

UG-EE-June-2025(Mathematics) Code-C 

2 = 0, then the other two roots 

xl 

2, 7. 

-2,7 

+5 

#2 

(*-1)y 
.x(1+y) 

_00, then 

(x+1)y 

x(1-y) 

dy 
dx 

COS X 

2y-1 

COS X 

SET-X 
Code-C 

1-2y 

is equal to: 



Question 
Na. 

11. 

12. 

13. 

14, 

15. 

The value of a for which the lines 3x + 4y = 5,5x + 4y = 4 and 

x + 4y =6 meet at a point is : 

(1) 4 

(3) 2 

(1) x+y=-1 

(3) x+y=3 

axes is bisected at P. Its equation is : 

A straight line through P(1, 2) is such that its intercept between the 

passing through (5,2) is : 

(1) 3x +y-11 =0 

(3) x + 3y -11=0 

Questions 

(-4- K, 6 � 2K) are collinear? 

(1) K =-1 

(3) K =1 

Equation of a.straight line perpendicular to the line 3x -y+7=0 and 

times the abscissa, is : 

(2) 

(1) (2,6) 

(3) 

(4) 1 

(3, 18) 

(2) 

(4) 

(3) 

(2) 

For what value of K, the points (K, 2- 2K), (-K + 1, 2K) and 

(4) 

3 

(2) 

2x +y =4 

x + 2y =5 

(2) 

The point of the parabola y² = 18x for which the ordinate is three 

UG-EE-June-2025(Mathematics) Code-C 

X-3y -11= 0 

X- 3y.+ 11 = 0 

(4) K=2 

SET-X 

Code-C 

K=-2 

(6,2) 

(4) (-2, -6) 



Question 
No. 

16. 

17. 

18. 

19. 

20. 

length of major axis is : 

In an ellipse, length of minor axis is 8 and eccentricity is 

(1) 6 

(3) 10 

(1) 

(3) v2 

154 sq unit is given by : 

The eccentricity of a rectangular hyperbola is: 

(1) x²+ y² =7 

(3) 

lim 
X+00 

(3) 

x² +y² = 11 

(1) 0 

sinx 

(3) 

Questions 

The equation of circle whose centre is (0,0) and area of the circle is 

lim is equal to : 

(1) 0 

is equal to : 

(2) 

(4) 

(4) 

(2) 

(4) 

(2) 

(4) 

(2) 

(4) 

12 

(2) 

16 

UG-EE-June-2025(Mathematics) Code-C 

-V2 

x²+y²= 22 

x2 + y² = 49 

1 

Doesn't exist 

1 

SET-X 

Code-C 

6 

(4) log 3 

3 
The 



Question 
No 

21. 

22. 

23. 

24. 

25. 

If cos @ -(*+}), then ;(+)is equal to : 
(1) sin 20 

(3) tan 20 

37t 

(1) -1- cot a 

4 

(3) 1 - cot a 

(1) 

If< a<a, then Vcosec? a + 2 cot a is equal to : 

(3) 

(a+)* 

are given by : 

(1) 0,1 

Questions 

(3) -1, 1 

If tan 20 tan = 1, then the general value of 0 is : 

(1) Im(2) = 0 

5 

If z z=+) +-). then : 

(3) Re(z) >0, Im(z) > 0 

(2) 

(4) 

(2) 

(5) 

(4) 

If (w # 1) is a cube root of unity and (1 + w)" = A + Bw, then A and B 

(4) 

COs 20 

(4) 

cot 20 

(2) 

(4) 

UG-EE-June-2025(Mathematics) Code-C 

1+ cota 

-1+ cot a 

(2) 1,0 

None of these 

1,1 

Re(z) = 0 

SET-X 
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None of these 



Question 
No. 

26. 

27. 

28. 

29. 

30. 

The number of real roots of 32x*-7x+7 =9 is : 

(1) 2 

(3) Zero 

(1) Imaginary 

(3) Real and unequal 

real, then (p, q) is equal to : 

If the roots of the equation qx'+ px + q = 0 are complex, where p, q 

(1) (4,-7) 

are real, then the roots of the equation x� 4qx +p² =0 are: 

(3) (-4, 7) 

arrangements is : 

Questions 

(1) |10 

(3) |10 x 2 

(2) 

them to a tea party : 

(4) 

If 2 + iy3 is a root of the equation x'+ px+g= 0 wherep and q are 

(1) 127 

(3) 256 

(2) 

(4) 

(6) 

(2) 

If eleven members of a Committee at a round table, so that the 

Chairman and Secretary always sit together, then the number of 

1 

4 

(2) 

(4) 

Real and equal 

(4) (-4, -7) 

None of these 

(4) 

UG-EE-June-2025(Mathematics) Code-C 

(4,7) 

A man has 7 friends. In how many ways, he can invite one or more of 

SET-X 

Code-C 

9 

|9 x2 

(2) 128 

130 



Question 
No. 

31. 

32. 

33. 

34. 

35. 

Area bounded by the curves y² =x and y = x² is: 

(1) 

(3) 

2 

3 
Sq. unit 

(1) Any value ofa linear function 

sq. unit 

(4) None of these 

(1) f2 

Questions 

(3) Optimal value of a linear function 

modal class is : 

(3) fo 

A linear programming problem is concerned with finding the : 

(2) Unsatisfactorily value of a linear function 

(3) h 

is : 

(1) cf 

In the formula of mode given by l+ h2f,--fo 

(2) 

(4) 

In the formula of median given by l+ 

(1) Median = Mode +2 Mean 

(3) 3 Median,= 2 Mode + Mean 

(2) 

(7) 

(4) 

(2) 

(4) 

1 sq. 

(2) 

None of these 

(4) 

UG-EE-June-2025(Mathematics) Code-C 

unit 

The empirical relation between the three measures of central tendency 

h 

SET-X 

Code--C 

frequency of the 

xA, the class size is : 

Mode =3 Median + Mean 

3 Median = Mode + 2 Mean 



Question 
No. 

37. 

36. Standard deviation is a measure which shows how much variation 

38. 

39. 

from the: 

(1) Mean exists 

(3) Variance exists 

is : 

(1) 

(3) 

The angle between the planes Y. (2i-j+ R) = 6 and Y. (1+j + 23) = 5 

3 

4 

(1) cos 0 = 

(3) cos = 

(2) 

Questions 

A statement is a sentence which is: 

(1) Always True 

(3) 

angle between line and plane is given by : 

Always False 

(2) 

If equation of a line is Y = å+ ab and equation of plane is Y.ñ = q, then 

(4) 

(4) None of these 

(2) 

(4) 

(8) 

(2) 

Mode exists 

(4) 

None of these 

UG-EE-June-2025(Mathematics) Code-C 

6 

sin = 

Either True or False, but not both simultaneously 

SET-X 

Code-C 

b.n 

None of these 



Question 
Na. 

40. 

41. 

42. 

43. 

44. 

Negation of negation ofa statement is : 

(1) Not defined 

(3) The statement ifself 

(3) 

1+tan x 

(1) log 

1-tan x 

1 

2 

(1) 1. 

(3) 3 

The 

dx 

log 1-tan x +tan x 

(1) 

dx is given by : 

|1+tanx 
|1+cotx 

(1) y x logx +c 

The order of the differential equation 

(3) y sin y = xlog x + c 

1 

+c 

+c 

x2 

(3) x 

dy_ 2x+ 3x + 4 is: 

Questions 

The solution of the differential equation 

(2) 

(4) 

(9) 

(2) l081-tan xl 

(4) log +c l1-tan xl 

d²y 
dx2 

True and False 

(2) 2 

(2) 

None of these 

(4) 0 

(4) 

+ 

(4) 

UG-EE-June-2025(Mathematics) Code-C 

dy 
dx 

integrating factor for solving the differential equation 

(2) -

= 0 is : 

y= x'sin x + c 

x(2 logx+1) 
sin y+y COs y 

1 

SET-X 

Code-C 

y siny = log x + c 

1S : 



Question 
No. 

45. 

46. 

47. 

48. 

49. 

x dy-y dx 

(1) 

x2 

a) 
(3) d(x + y) 

(1) 52 

(3) 25 

If k, i and w are three vectors such that i +i+ W= 0, then find 

k.i+ö.w+ w.k, if lkl = 3, Jö| = 4 and |w| = 5: 

is equal to : 

If l�| = |õ|, then (ã + b).(å - b) is : 
(1) Positive 

(3) Zero 

then : 

(1) cos 6 =1 

(3) cOs = 

(1) 2�2 

Questions 

4 

(3) a +2 

2 

(2) d(xy) 

19 

If 0 is the angle between the vectors å = 21+ 2f -k and b = 6- 3 + 2k, 

(2) -52 

(4) 

(10) 

(2) 

(4) 

(2) 

53 

(2) 

Negative 

If å is any vector, then (ã x )' + (å x )'+ (åxk) 

(4) 

UG-EE-June-2025(Mathematics) Code-C 

None of these 

(4) cos = 

cos = 19 

2 

3 

¿-2 

2 
21 

SET-X 
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Question 
No. 

50. 

51. 

52. 

53. 

54. 

Ifa line makes angles a, B.y with coordinate axes, then 

cos 2a + cos 2ß + cos 2y is : 

(1) 3 

(3) -2 

If f(«) = 

(1) 3 

(3) 0 

are: 

(1) n2 

x'-9 

(1) ¢ 

X-3 

(3) (2"- 1) 

(3) 1 

(2x + k, otherwise 

(1) 

if x #3 

Questions 

(3) {1,2, 3) 

(2) 

(4) 

(2) 

A set contains n elements. Then the number of elements in Power Set 

is continuous at x =3, then k is equal to: 

(4) 

(11) 

(2) 

(4) 

Two sets A and B are called Disjoint sets, if A n B is : 

(2) 

-1 

2 

(2) 

1 

(4) 

UG-EE-June-2025(Mathematics) Code-C 

6 

-6 

If A = (1,2, 3, 4} and B.= {4,5,6, 7}, then B -A is given by: 

2n 

(4) None of these 

0 
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{(5,6,7) 

None of these 



Question 
No. 

55. 

56. 

57. 

58. 

59. 

60. 

Taxi is: 

In a city 20% of the population travels by Metro, 50% by Taxi and 10% 

travels by both Metro and Taxi. Then persons travelling by Metro or 

(1) 60% 

(3) 40% 

(1) 2 

(3) 3 

(1) 

(3) V2 

(2)42n+1 + 33n+1 is divisible by which of the following for all n ¬ N : 

The value of sin(cot- x) is equal to : 

(1) V1+x2 

If cos-1 x - sin 1x = 0, then x is equal to : 

(3) x 

(1) 0 

(3) 1 

tan-1 

Questions 

(3) 

2 

(1) n 

(2) 

1 

3 

(4) 

(2) 

(4) 

(12) 

(2) 

(4) 

(2) 

The value of sin -sin(-) is equal to : 

(4) 

+tan-'+ tan-; is equal to: 

(2) 

(4) 

(2) 

70% 

(4) 

UG-EE-June-2025(Mathematics) Code-C 

80% 

11 

-
-V2 

(1+x?)-1/2 

1 

2 

-1 

1 

2 
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Question 
Na. 

61. 

62. 

63. 

64. 

65. 

66. 

67. 

The equation of the plane passing through the intersection of the 

(1) 2x+ 3y + z=0 

planes x+ 2y + 3z + 4 = 0 and 4x +3y + 2z +1=0 and the origin is : 

(3) x ty+z= 0 

(1) Right angled 
(3) Isosceles 

(1) 3 

(3) 1 

The triangle formed by the points (0,7, 10), (-1,6,6), (-4,9,6) is : 

(1) Transitive 

(3) Reflexive 

Questions 

(1) A periodic function 
(3) An odd function 

The distance of the point (2,3, -5) from the plane x + 2y - 2z =9 is: 

(1) (2,4, 8} 

(2) 

(3) (2,4, 6) 

(4) 

(1) (x,y) ¬R y,x) R 

(2) 

(3) (, y) ER ’ y,x) ER 

(4) 

IfR is a relation on a set A such that R = R-, then R is: 

The function f(x) = log(x + Vx?+1) is : 

(13) 

(4) 

(2) 

(2) 4 

(4) 

(2) 

(4) 

R is called a symmetric relation on A, if: 

(2) 

3x + 2y+z=0 

(4) 

3x + 2y+z+1=0 

(2) 

Equilateral 

Let R bea relation on N defined by x + 2y = 8.The domain of R is : 

(4) 

UG-EE-June-2025(Mathematics) Code-C 

Right angled isosceles 

2 

Symmetric 

SET-X 

Code-C 

None of these 

An even function 

None of these 

{1,2,3,4} 

{2,4, 6, 8} 

(x, y) E R ’ 

None of these 

G)eR 



Question 
No. 

68. 

69. 

70. 

71. 

Pive boys and three girls are seated at randomn in a row. The 

probability that no boy sits between two girls is : 

(1) 28 

(3) 

(1) 

(3) 

(1) 

2 

probability that these two being aces is : 

(3) 

28 

(1) 

Two cards are drawn at random from a pack of 52 cards. The 

(3) 

1 

221 

1 

212 

40 

139 

Questions 

4 

139 

a head and th� die shows 3 is: 

1 

(2) 

(4) 

12 

A bag contains 8 red and 5 white balls. Three balls are drawn at 

random. The probability that one ball is red and two balls are white is : 

(2) 

(14) 

(4) 

(2) 

(4) 

(2) 

1 

28 

(4) 

UG-EE-June-2025(Mathematics) Code-C 

3 

28 

122 

A coin is tossed and a die is rolled. The probability that the coin shows 

1 

222 

1 

40 

143 

1 

143 

6 
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24 



Question 
Na. 

72. 

73. 

74. 

75. 

The probability that at least one of the events A and B occurs is 

(1) 

(3) 

(1) 

and B occur simultaneously with probability, then P(A) + P(B) is : 

(3) 

and 5 tails is : 

/s : 

(1) 

6 

(3) 

5 

7 

5 

(1) 

(3) 

9 

64 

If two coins are tossed 5 times, then the probability of getting 5 heads 

1 

1024 

100 

153 

105 

Questions 

512 

second draw is: 

8 

(2) 

25 

(4) 

(2) 

(15) 

(4) 

A Coin is tossed 10 times. The probability of getting exactly six heads 

(2) 

(4) 

4 

(2) 

2 

(4) 

UG-EE-Juné-2025(Mathematics) Code-C 

5 

2 

205 

63 

A box contains 3 white and 2 red balls. If we draw one ball and 

without replacing the first ball, the probability of drawing red ball in 

1 

256 

10 Ca 
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3 

21 

5 

25 
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Question 
No. 

76. 

77. 

78. 

79. 

80. 

81. 

If 3 < x| <6, then x belongs to: 
(1) (-6, -3) U (3,6) 
(3) (-3, -3) v (3, 6) 
If ab = 4 and a, b E R, then: 

(1) a t b<4 

(3) a t+b4 

(1) asq. unit 

(3) 

0 

-1 

(1) 

(3) 

4 

(1) 

(3) 

Area lying between parabola y² = 4ax and its latus rectum is: 

3 

16 

3 

4 

x2+2x+2 

2 

4 

8 

asq. unit 

dx 

How many 

(1) 24 

(3) 6 

Questions 

is equal to : 

"/4 

comes in the middle of every word? 

(2) 

The value of x° sin x dx is equal to : 

(4) 

(2) 

(4) 

(16) 

(2) 

(4) 

(2) 

(4) 

(2) 

(4) 

(-6,6) 
None of these 

(4) 

UG-EE-June-2025(Mathematics) Code-C 

(a + b) =4 

None of these 

8 
a»sq. unit 
3 

None of these 

0 

T 

words can be made from the letters of the word DELHI, if L 

2 

0 

(2) 12 

SET-X 
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60 



Question 
Na. 

82. 

83. 

84. 

85. 

86. 

The number of ways of distributing 8 identical balls in 3 distinct boxes 

so that none of the boxes is empty, is: 

(1) 5 

(3) 21 

n is equal to : 

(1) 5 

If the 4th term in the expansion of (x 

(3) 9 

(1) n+1 

(3) 1 

Questions 

(1) n 

2n 

(3) 2n 

(2) 

(4) 

The coefficient of x in the expansion of (1 +x+*' +...) is : 

(9) n°+Go-1) 

(2) 

(17) 

(2) 

The middle term in the expansion of (*²++ 2) is: 

(4) None of these 

38 

(2) 

6 

(4) (-1)" 

(4) 

(2) 

UG-EE-June-2025(Mathematics) Code-C 

is independent of x, then 

1 

L2n 
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(Ln)(D) 

The sum of n terms of the series 1.4 + 3.04 + 5.004 +-.oo-- iS : 

L2n 
n-1 



Question 
N. 

87. 

88. 

89. 

90. 

91, 

(1) p+q +r 

lf the pth term of an A.P, is a, ath term is p, then its rth term is : 

(8) p+r -q 

(1) 1024 

(3) 512 

Fifth term of a G.P. is 2, then the product of its nine term is : 

100 

n=1 

(1) 

(3) 

(1) 

(3) 

Questions 

Let a, be nth term of a GP. of positive numbers. If 2 azn = a and 

(En)? 

(Cn²)3 

Ifx= at, y = 2at, then 

(2) 

(1) 16a 

(4) p-q-r 

(3) 16a 

azn-1 =B, then the common ratio of G.P. is : 

The sum of cubes of n natural numbers is : 

(2) 

(4) 

(18) 

(2) 

(4) 

(2) 

(4) 

d²y dy2 att=2 is: 

(2) 

256 

(4) 

UG-EE-June-2025(Mathematics) Code-C 

None of these 

B 

(2n)3 

None of these 

1 

16a 

100 

None of these 

SET-X 
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n=1 



Question 
Na. 

92. 

93. 

94. 

95. 

96. 

The derivative of log. 1-cosx 

(1) -cosecx 

(3) cotx 

given by : 

10 
(1) <x<0 

(3) 10 < 3x < 0 

The minimum value of x2 + 

(1) x= 1 

The interval in which the function y = x3 + 5x?-1 is decreasing is 

(3) x -1 

the x-axis, is : 

1+cos x 

(1) (0,a) 

(3) (a, a) 

(1) y=-2x + 1 

is : 

(3) y = 2x + 1 

Questions 

1 

1+x2 

(2) 

(4) - cotx 

(19) 

(2) 0<x< 

is, at : 

(2) 

COsecX 

(4) -<r<0 

(4) 

The point on the curve Vx + Jy= va at which the normal is parallel to 

(4) 

10 

(2) 

X=0 

(2) (a, 0) 

UG-EE-June-202%(Mathematics) Code-C 

For the curve y = e, the equation of tangent at (0, 1) is : 

10 
3 

None of these 

(0,0) 
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y=-1+ 2x 

4) y=--1 



Question 
No. 

97. 

98. 

99. 

100. 

e(1+sin x) 
(1+cos x) 

(3) 

(1) e* tan+c 
e* cos + c 

dx 

dx is given by 

(1) log(vz+1) + c 

is given by : 

(3) log(*+1) + c 
ex 

(2+e*)(1+e*) 

x2+4 

(1) log ()+c 
(3) log )+c 

2 

dx is egqual to : 

- dx is equal to: 

(1) x-2 tan-'+c 

(3)-tan-1+c 

Questions 

2 

(2) 

(20) 

(4) e* sin~tc 

(2) 

(2) 

(4) log(x + 1) +c 

(4) 

e* cot + c 

(2) 

UG-EE-June-2025(Mathematics) Code-C 

2 log(V + 1) + ¢ 

log 

log 

)+c 

+c 

x+2 tan-1+c 

(4)+ tantc 2 2 
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Question 
Na 

1. 

2. 

3. 

4. 

5. 

How many words can be made from the letters of the word DELHI, if L 

comes in the middle of every word? 

(1) 24 

(3) 6 

(1) 5 

(3) 21 

so that none of the boxes is empty, is : 

If the 4h term in the expansion of 

n is equal to : 

The number of ways of distributing 8 identical balls in 3 distinct boxes 

(1) 5 

(3) 9 

Questions 

(1) n + 1 

(3) 1 

(1) 

(2) 

L2n 

(4) 

(3) L2n 

(2) 

(1) 

(4) 

(2) 

(4) 

(2) 

(4) 

The coefficient of x in the expansion of (1+x+x +o-)" is: 

(2) 

12 

-

(4) 

UG-EE-June-2025(Mathematics) Code-D 

60 

38 

6 

The middle term in the expansion of (*²++2) is : 

m 

None of these 

is independent of x, then 

(-1)" 

1 
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|2n 

(n)X() 

2n 
Ln-1 



Question 
Na. 

6. 

7. 

8. 

9. 

10. 

() n+1-) 

The sum of n terms of the series 1.4 + 3.04 + 5.004 +--..-. 1s : 

(3) n²+-1) 

(1) p+ q+r 

(3) p tr-q 

(1) 1024 

(3) 512 

If the pth term of an A.P. is q, gth term is p, then its rth term is : 

100 

n=1 

(1) 

(3) 

Questions 

Fifth term of a G.P. is 2, then the product of its nine term is : 

(1) 

0 

(3) 

(2) 

(4) 

(Sn)? 

(n²)3 

(2) 

(4) 

Let a, be nth term of a G.P. of positive numbers. If ) azy = a and 

2 azn-1=B, then the common ratio of G.P. is : 

(2) 

(4) 

(2) 256 

(2) 

The sum of cubes of n natural numbers is : 

(4) 

n²+ *(1-) 

ptqr 

(2) 

pq-r 

(4) 

UG-EE-June-2025(Mathematics) Code-D 

None of these 

SET-X 
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(Cn)3 

100 

None of these 



Question 
Na 

11. 

12. 

13. 

14. 

15. 

Area bounded by the curves y² =x and y=x is: 

|(1) sq. unit 2, 
3 

1 

(3) sq. 2 
Sq. unit 

(1) Any value of a linear function 

(4) None of these 

Questions 

A linear programming problem is concerned with finding the: 

(3) Optimal value of a linear function 

modal class is : 

(2) Unsatisfactorily value of a linear function 

(1) f2 

In the formula of mode given by l+h 

(3) fo 

1s : 

(1) cf 

(2) 

(3) h 

(4) 

In the formula of median given by l+ 

(3) 3 Median = 2 Mode + Mean 

(2) 

(3) 

(4) h 

(2) 

(4) 

(1) Median = Mode + 2 Mean (2) 

1 sq. unit 

None of these 

The empirical relation between the three measures of central tendency 

(4) 

UG-EE-June-2025(Mathematics) Code-D 

SET-X 

Code-D 

frequency of the 

xh, the class size is : 

Mode = 3 Median + Mean 

3 Median = Mode + 2 Mean 



Question 
Na. 

16. 

17. 

18. 

19. 

from the : 

Standard deviation is a measure which shows how much variation 

(1) Mean exists 

(3) Variance exists 

is,: 

(1) 

(3) 

3 

4 

The angle between the planes f. (2t-j + R) =6 and i. (1 +j+ 2k) = 5 

(1) cOs = 

Questions 

(3) cos 0 = 

A statement is a sentence which is : 

(1) Always True 

angle between line and plane is given by: 

(2) Always False 

(2) 

(4) 

(4) None of these 

(2) 

If equation of a line is f = å+ ab and equation of plane is Y.ñ = q, then 

(4) 

(4) 

(2) 

Mode exists 

(4) 

None of these 

UG-EE-June-2025(Mathematics) Code-D 

6 

2 

sin = 

(3) Either True or False, but not both simultaneously 

SET-X 
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b.ñ 

None of these 



Question 
Na 

20. 

21. 

22. 

23. 

24. 

25. 

26. 

Negation of negation of a statement is : 

(1) Not defined 

(3) The statement ifself 

(1) 2x+ 3y + z =0 

(3) x +y+z= 0 

(1) Right angled 

(3) Isosceles 

The equation of the plane passing through the intersection of the 
planes x+ 2y + 3z + 4 =0 and 4x + 3y + 2z + 1 =0 and the origin is : 

(1) 3 

(3) 1 

(1) Transitive 

Questions 

(3) Reflexive 

The triangle formed by the points (0,7, 10), (-1,6,6). (-4, 9, 6) is : 

(1) A periodic function 

(2) 

(3) An odd function 

(4) 

(1) (2,4, 8) 

(2) 

(3) (2,4, 6) 

(4) 

The distance of the point (2,3, -5) from the plane x + 2y - 2z = 9 is : 

(2) 

(5) 

(2) 

The function f(x) = og(x + Vx+1) is : 

(4) 

IfR is a relation on a set A such that R = R-', then R is : 

(2) 

(4) Right angled isosceles 

(4) 

True and False 

(2) 

None of these 

(4) 

3x + 2y +z =0 

(2) 

(4) 

UG-EE-June-2025(Mathematics) Code-D 

3x + 2y +z+1=0 

Equilateral 

2 

Let R be a relation on N defined by x + 2y = 8. The domain of R is : 

SET-X 

Code-D 

Symmetric 

None of these 

An even function 

None of these 

{1,2, 3,4} 

(2,4, 6, 8) 



Question 
Na 

27. 

28. 

29. 

30. 

31. 

R is called a symmetric relation on 4, if : 

(1) («, y) ¬R ’ (y,x) R 

(3) (x, y) ¬R 

(1) 28 

(3) 

(1) 

(3) 

hve boys and three girls are seated at random in a row. The 
probability that no boy sits between two girls is : 

2 

(1) 

28 

(3) 

probability that these two being aces is : 
1 

(3) 

221 

1 

212 

40 

Two cards are drawn at random from a pack of 52 cards. The 

139 

4 

(y,x) ¬R 

139 

Ifx = at', y = 2at, then 

(1) 16a 

Questions 

1 
16a 

(2) (x,y) ER 

d²y 

(4) 

dx2 

(2) 

(4) 

(6) 

A bag contains 8 red and 5 white balls. Three balls are drawn at 

random. The probability that one ball is red and two balls are white is: 

(2) 

(4) 

(2) 

(4) 

at t = 2 is : 

None of these 

(2) 

(4) 

UG-EE-June-2025(Mathematics) Code-D 

1 

28 

3 

28 

1 

122 

1 

222 

40 

143 

4 

143 

SET-X 
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1 

G)eR 

16a 

None of these 



Question 
No. 

32. 

33. 

34. 

35. 

36. 

The derivative of log. 

(1) -cosec x 

(3) cot x 

given by: 
10 

(1) <x<0 

(3) 10< 3x < 0 

The minimum value of x + 

(1) x=1 

(3) x = -1 

The interval in which the function y = x'+ 5x2-1 is decreasing is 

the x-axis, is: 

(1) (0,a) 

1+cos x 
-Cos x 

(3) (a, a) 

Questions 

(1) y -2x + 1 

is : 

(3) y = 2x+ 1 

1 

1+x2 

(2) 

(4) 

(2) 

(7) 

(4) 

1s, at: 

(2) 

(4) 

(2) 

The point on the curve Vz+y = ya at which the normal is parallel to 

(4) 

COsecX 

- cot X 

(2) 

UG-EE-June-2025(Mathematics) Code-D 

0<x< 

10 
-<x<0 

X= 0 

For the curve y =e, the equation of tangent at (0, 1) is : 

None of these 

(a, 0) 

(0,0) 
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y=-1+ 2x 

(4) y=-x-1 



Question 
Na. 

37. 

38. 

39. 

40. 

41, 

e(1+sin x) 

(1) 
(3) 

(1+cos x) 

e* tan+c 
e* cos + c 

dx 

TA 

(3) 

(1) log(V+1) + c 

dx is given by : 

) log(Vi +1) +c 

is given by : 

e 

(2+e*)(1+er) 

(3) log() +c 

2 

y24 42 1s equal to: 

(1) x- 2 tan-1+ c 

(1) 3 

(3) 0 

dx is egqual to : 

tan -1: 
2 

x2-9 
Iff(r) = x-3 

(2x + k, 

+c 

if x # 3 

otherwise 

Questions 

(2) e* cot+c 
(4) 

(8) 

(2) 

(4) log(x + 1) + c 

(2) 

(2) log(+ 
(4). log()+ 

(4) 

e* sin; +c 

(2) 

2log(vz+ 1) + c 

(4) 

UG-EE-June-2025(Mathematics) Code-D 

x+2 tan;+c 

7+ tan1 +c 

is continuous at x =3, then k is equal to: 

2 

6 

2 

-6 

SET-X 

Code-D 



Question 
No. 

42. 

43. 

44. 

45. 

46. 

47. 

are: 

A set contains n elements. Then the number of elements in Power Set 

(1) n? 

(3) (2" -1) 

(1) ¢ 

(3) 1 

Two sets A andB are called Disjoint sets, if A n B is : 

(1) ¢ 

(3) {1,2, 3} 

Taxi is: 

(1) 60% 

(3) 40% 

If A = {1, 2, 3, 4} and B = 4, 5,6,7), then B -A is given by: 

Questions 

(1) -2 

(3) 3 

(2) n 

(1) 

(4) 2 

1 

(3) V2 

(2) 

(4) 

In a city 20% of the population travels by Metro, 50% by Taxi and 10% 

travels by both Metro and Taxi. Then persons travelling by Metro or 

(9) 

(2) 

(4) 

(2) 

(4) 

If cos-1x-sin-1x = 0, then x is equal to : 

(2)42n+1 +33n+1 is divisible by which of the following for all n EN: 

(2) 

(4) 

0 

(2) 

None of these 

(4) 

UG-EE-June-2025(Mathematics) Code-D 

(5, 6,7} 
None of these 

70% 

80% 

SET-X 

Code-D 

11 

1 

-2 



Question 
Na. 

48. 

49. 

50. 

51. 

52. 

53. 

The value of sin(cot- x) is equal to : 
(1) V1+x? 

(3) x 

(1) 0 

(3) 1 

tan-1+ tan-! 2 

The value of sin -sin(-)| is equal to : 

(1) T 

(3) 

(1) 4 

1 

(3) 2 

ST tan-11 

x t 4y =6 meet at a point is: 

Questions 

(1) x +y=-1 

(3) x ty=3 

(2) 

(1) 3x + y -11 = 0 

(4) 

(3) x + 3y -11=0 

R1S equal to : 

(2) 

(4) 

(10) 

(2) 

(4) 

The value of 1 for which the lines 3x + 4y = 5, 5x + 4y = 4 and 

(1+x')-1/2 

(2) 

A straight line through P(1,2) is such that its intercept between the 
axes is bisected at P. Its cquation is: 

(4) 

1 1 

2 

(2) 3 

(2) 

-1 

(4) 1 

(4) 

UG-EE-June-2025(Mathematics) Code-D 

2 

4 

Eauation of a straight line perpendicular to the line 3x - y+7=0 and 
passing through (5,2) is: 

2x + y =4 

x + 2y =5 

SET-X 
Code-D 

x-3y -11 = 0 
x- 3y + 11 = 0 



Question 
Na. 

54. 

55. 

56. 

57. 

58. 

For what value of K, the points (K,2 - 2K), (-K + 1,2K) and 

(-4-K, 6- 2K) are collinear? 

(1) K= -1 

(3) K =1 

times the abscissa, is : 

(1) (2,6) 

(3) (3,18) 

length of major axis is : 

The point of the parabola y' = 18x for which the ordinate is three 

(1) 6 

(3) 10 

Questions 

(1) 

(3) V2 

154 sq unit is given by : 

(2) 

(1) x+ y' =7 

(4) 

In an ellipse, length of minor axis is 8 and eccentricity is 

(3) x²+ y² = 11 

(2) 

(4) 

(11) 

(2) 

(4) 

The eccentricity of a rectangular hyperbola is : 

(2) 

(4) 

K= -2 

K=2 

(2) 

(4) 

UG-EE-June-2025(Mathematics) Code-D 

(6,2) 

(-2,-6) 

12 

16 

The eguation of circle whose centre is (0, 0) and area of the circle is 

SET-X 

Code-D 

-V2 

x'+ y²= 22 

x²+y² = 49 

V5 
3 

The 



Question 
Na. 

59. 

60. 

61. 

62. 

63. 

lim 

(1) 0 

(3) 

lim 

(3) 

Sinx 

(1) 0 

(3/2. 

1 

3 

is equal to : 

by : 

-3 

(3) 

b 

(1) a = a'+ b',B = 2ab 

is equal to: 

(3) a = a? b2,B = 2ab 

(1) Always zero 

(3) Always one. 

L 

Questions 

(2) 

(4) 

(2) 

If A =| and 4² =then the value of a and ß is : 

(4) 

(12) 

(2) 

(4) 

Each diagonal element of a skew-symmetric matrix is: 

(2) 

(4) 

1 

(2) 

Doesn't exist 

(4) 

UG-EE-June-2025 (Mathematics) Code-D 

1 

6 

log 3 

The matrix A which satisfies the condition 

a=ß=ab 

a= a' b,ß= 

None of these 

SET-X 
Code-D 

Always imaginary 

ab 

None of these 

l6 J4-B i given 



Question 
Na. 

64. 

65. 

66. 

67. 

68. 

(1) #2 

If a square matrix A is such that AA' = I= A'A, then |A| is equal to : 

(3)1 

|1 a 
1 b 

(3) 1 

(1) abc 

are: 

If-9 is a root of the equation|2 

b+tc 

(1) 2,-7 

c+ al is equal to: 
a+bl 

(3) -2, -7 

(1) 

(3) 

(1) ±3 

Questions 

(3) +1 

2 

(2) 

(4) 

(2) 

(13) 

(4) 

IfA = then adj A is given by : 

3 7| 

6 xl 

(2) 

(4) 

(2) 

(4) 

None of these 

(4) 

UG-EEJune-2025(Mathematics) Code-D 

a+b c 

IfA = and |A| = 125, then the value of A is : 

0 

=0, then the other two roots 

2,7 

-2,7 

(2) t5 

SET-X 

Code-D 

t2 



Question 
Na. 

69. 

70. 

71. 

72, 

73. 

If xy = e*-y, then 

(1) 

(3) 

(1) 

(3) 

x(1+y) 

(*-1) 
x(1+y) 

y 

Ify =sin x + V sin x + ysin x 

sin x 

2y-1 

sin x 

1-2y 

1+tan x 

1-tan x 

(3) 
1 

(1) 1 

(3) 3 

dy 

|1+tanx 
() +c 

dx 

dx, is given by: 

1+tan x 

is equal to : 

Questions 

(1) y= x' logx +c 

(3) y sin y = xlog x + c 

(2) 

(4) 

The order of the differential equation 

(14) 

(2) 

(4) 

o, then is equal to : 

a²y 
dx2 

The solution of the differential equation 

(2) 

(4) 

(x-1)y 
x(1+y) 

(4) log 

(2) 

(x+1)y 

(2) loganx +c 

(4) 

UG-EE-June-2025(Mathematics) Code-D 

x(1-y) 

COS X 

2y-1 

dy 

COS X 

1-2y 

dx 

+ 

2 

dy 
dx 

1-tan xl 

+c 

=0 is: 

x(2logx+1) 
siny+y cos y 

SET-X 
Code-D 

y=xsin x + c 

is : 

y sin y = logx + c 



Question 
Na. 

74. 

75. 

76. 

77. 

78. 

The integrating factor for solving 

ay= 2x' + 3x + 4 is : dx 

(1) x2 

(3) x 

x dy-y dx 
x2 

(1) a 
(3) d(x+y) 

(1) 52 

(3) 25 

is equal to : 

If läl =|b|, then (d + b).(�- b) is: 
(1) Positive 

(3) Zero 

then: 

Questions 

(1) cos = 

If i, i and W are three vectors such that k + i + W=0, then find 
k.i+i.W+ w.k, if j~] = 3, Iö| =4 and |w| = 5: 

4 

2 
(3) cos = 

(2) -

(4) 

(15) 

(4) 

(2) d(xy) 

(2) 

(4) 

(2) 

(4) 

1 

(2) 

the differential equation 

(4) 

UG-EE-June-2025 (Mathematics) Code-D 

Ife is the angle between the vectors å = 2i + 2f� k and b = 6i-3 + 2k, 

a(9 

-52 

53 

Negative 

None of these 

SET-X 

Code-D 

Cos = 

cos @ = 
2 

21 



Question 
Na. 

79. 

80. 

81. 

82. 

83. 

(1) 2a2 

lfä is any vector, then (d x i)²+ (å >x )² + (ãx k) is : 

(3) +2 

cos 2a + cos 2ß + cos 2y is : 

(1) 3 

(3) -2 

If cos @ =(x+) then ;+ 
(1) sin 20 

If a line makes angles a,B,y with coordinate axes, then 

(3) tan 20 

3Tt 

Questions 

4 

(1) -1- cot a 

(3) 1 cot a 

(2) 

(3) (7+)1 

(4) 

(2) 

(16) 

(4) 

(2) 

(4) 

is equal to : 

(2) 

If< a<n, then Vcosec² a+ 2 cot a is equal to : 

(4) 

2 

¿² - 2 

(2) 

(4) 

UG-EE-June-2025(Mathematics) Code-D 

-1 

2 

cos 20 

If tan 20 tan = 1, then the general value of 6 is : 

2 

cot 20 

1+ cot a 

-1+ cot a 

(an t) 
None of these 

SET-X 
Code-D 



Question 
No. 

84. 

85. 

86. 

87. 

88. 

are given by: 

If (w +1) is a cube root of unity and (1 + w)? = A + Bw, then A and B 

(1) 0,1 

(3) -1,1 

(1) Im(z) = 0 

Iz -(+9)+-). then : 

(3) Re(z)>0, Im(z) >0 

(1) 2 

5 

(3) Zero 

5 

(1) Imaginary 

Questions 

(3) Real and unequal 

(1) (4,-7) 

The number of real roots of 32x*-7x+7 9 is: 

real, then (p, ) is equal to: 

(3) (-4,7) 

(2) 1,0 

(4) 

(2) 

(4) 

(17) 

If the roots of the equation qx² + px +q=0 are complex, where p, q are 

real, then the roots of the equation x- 4qx +p =0 are : 

1,1 

(2) 1 

Re(z) = 0 

(4) 4 

(2) 

None of these 

(4) 

(2) 

If 2+ tV3 is a root of the equation x²+ px + q =0 where p and q are 

UG-EE-June-2025(Mathematics) Code-D 

Real and equal 

None of these 
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(4,7) 

(4) (-4, -7) 



Question 
No. 

89. 

90. 

91. 

92. 

If eleven members of a Committee at a round table, so that tha 

arrangements is : 

Chairman and Secretary always sit together, then the nunmber of 

(1) |10 

(3) 10 x 2 

them to a tea party : 

(1) 127 

(3) 256 

a head and the die shows 3 is : 

A man has 7 friends. In how many ways, he can invite one or more of 

(1) ; 

(3) 
12 

(1) 

Questions 

(3) 

6 

A coin is tossed and a die is rolled. The probability that the coin shows 

5 

(2) 

7 

(4) 

5 

(2) 

(4) 

(18) 

(2) 

(4) 

|9 

The probability that at least one of the events A and B occurs is . IfA 

and B occur simultaneously with probability 

(2) 

|9x2 

(4) 

UG-EE-June-2025(Mathematics) Code-D 

128 

130 

1 

6 

1 

24 

4 

SET-X 
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5 

2 

1 

3 

then P(A') + P(B') is : 



Question 
Na 

93. 

94. 

95. 

96. 

97. 

and 5 tails is : 

lf two coins are tossed 5 times, then the probability of getting 5 heads 

(1) 

(3) 

is : 

(1) 

(3) 

9 

64 

(1) 

(3) 

1024 

1 

100 

153 

A Coin is tossed 10 times. The probability of getting exactly six heads 

105 

512 

draw is: 
8 

25 

3 

If 3 < x <6, then x belongs to : 

(1) (-6,-3) U (3,6) 

Questions 

(3) (-3,-3) U (3, 6) 
If ab = 4 and a, b E R, then: 

A box contains 3 white and 2 red balls. If we draw one ball and without 

replacing the first ball, the probability of drawing red ball in second 

(1) a+bs4 

(3) a+b4 

(2) 

(4) 

(19) 

(2) 

(4) 

(2) 

(4) 

(2) 

(4) 

(2) 

(4) 

UG-EE-June-2025(Mathematics) Code-D 

205 

2 

256 

63 

10 CA 

2 5 

21 

25 

(-6,6) 

SET-X 
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None of these 

(a+ b) = 4 

None of these 



Question 
Na 

98, 

99. 

100. 

(1) 

Area lying between parabola y² = 4ax and its latus rectum is : 

-1 

(1) 

(3) 

(3)a' sq. unit 

4 

(1) 

3 

(3) 

16 

3 

a sq. unit 

4 

x2+2x+2 

2 

dx 

4 

Questions 

is equal to : 

(2) 

The value of sinx dx is equal to : 

(4) 

(20) 

(2) 

(4) 

(2) 

(4) 

UG-EE-June-2025(Mathematics) Code-D 

8 a'sq. unit 3 

None of these 

2 

0 
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